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SiPlejenrsst : (1) Smanss eNaTés@hn sllurs si&&l uleurdl o erargm Grsinug,emco“r
slluriggd GQsrareray. oEsLILS el @mmuﬂ@ulﬁl@r SIHME
sarrsTantiLmerflL b o L amq wirs QgfleN&sayD.

2 B ooy seuy ow¥oa  WLEGWL T(PSIUSDH S
<y 5CamgPausHEL Lwei(ss CauammBn. ULmRSE umrasnd
Querdfle LweaTL(HSSaLD.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately. :

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

@Ay : Geclamssrar HI6E LGS ST GETam_g).
Note : This question paper contains four parts.

UGS - I /PART - I
@iy : () Siwenggl amésEhEGD oL welsae;ib. 14x1=14
() Qar@ssiiBarer wrHD aloLsefld Wb gpymLL Ao 1Gmans
CoibOs(s5s GO eflamLulemamn i Cairdg) eT(pse|d.
Note : (i)  Answer all the questions.

(i) Choose the most appropriate anIsyPEr from the given four alternatives and write
the option code and the corresponding answer,

[ H@Lns / Tum over
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1. n(AxB)=6 wpmib A={1, 3} erafley, n(B) < eang) :
(<4) 1 ()2 (@) 3 () 6
If n(AXB)=6 and A={1, 3}, then n(B) is :
C @ 1 (b) 2 © 3 (d) 6
2. [:A-B yeang Qmups emiy LOMHMILD n(B)=7 eTalle, n(A) pang) :
(=) 7 (<) 49 (@) 1 () 14
If f:A—B is a bijective function and if n(B)=7, then n(A) is equal to :
@ 7. (b) 49 © 1 (@ 14
3. 1upse 10 auenrwyener (@reim() CTENTEH(@HLD 2 L LIL ) Seness;) eTeRTSsemmaild u@LBILD
WOasFHHw erevr | |
“e21) 2025 (<=1) 5220 -~ (@) 5025 SRR (FF) 2520
The least number that is divisible by all the numbers from 1 to 10 (both inclusive) is :
(@) 2025 () 5220 (©) 5025 @ 2520
4.

@ (s Cdgri auflewsfe 31 o mliyser o drarar. @igen 16 -6ugl 2 miiLy
m erefled, ABBS ol B GgmLit euflangufied 2 eirar erever o mirisefen (DB :

. (=) 16 m -(c%) 62 m (@) 31 m ‘ (vF) % m

An A.P. consists of 31 terms. If its 16" term is m, then the sum of all the terms of this A_P. 1s ;

(@) 16m () 62m (© 31m d 3?1 m

5. 2+64 -@ (P iEsLNE WIHD NeTeuHeuaeuDDET TSE Fnl L Gms&n@n.b ?
(1) 422 (<) 1622 (@) 822 () —8x2
Which of the following should be added to make x*+64 a perfect square ?

(2) 422 (b) 162> (9 822 (@ —8x2
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6. @O Gpfiw FWETUTLIGET GUETLILLD 6 2YGLWD.
(1) CpieGar® () i (@) vra@erwd  (7) wiflugeuemeruid
Graph of a linear equation is a
(a) straight line (b) circle (c) parabola (d) hyperbola

7. AABC -wdé DE||BC, AB=3.6 Qs.5, AC=24 @mﬁ wHmb AD=2.1 Q&.8 erefle,
AE -Wer Bembd :

(=1) 1.4 Qg8 (=) 1.8 Q&8 (@) 1.2 Q&8 (FF) 1.05 Q.8
If in AABC, DE(|BC, AB=3.6 cm, AC=2.4 cm and AD=2.1 cm then the length of AE is :

(@ 14 cm (b) 18 cm () 12cm (d) 1.05 cm

il gdlen Qeuefliymi qmaﬂuﬁ‘leﬁl@;ﬁ@ au_l_g,glg)@ Grg;gpemazsr QsrTHCasrHsar

euedFemD ?

(24) ey () @ram®

(@) wpyeupp cramanfisans () Lgedub

How many tangents can be drawn to the circle from an exterior point ?
@) One (b)) Two '

(c) Infinite ' (d) Zero

9. (=50, (0, -5 5, 0) <o,
| oy ) wpmid (5, 0) Hw yeralserray DADWESILGD &CaramsSar

(1) 0 & SIVGHET : ()25 . DAV GSEeT

() 5a. D OGHET (FF) 10 . DNV GSET

The area of triangle formed by the points (-5, 0), 0, -~5) and (5, 0) is :
(@)  0sq. units (b) 25 sq. units

(©)  55q. units (d) 10 sq. units
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VA tand wPOID y=b secd erafle,
2 2 § §
Y X 2 2 ad Y 2 :

- \ LA L—L’—‘ — +5==1 T L—V

) 22! (=) 2 B2 ! (&) a® b’ () a2 b2

If x=a tan® and y=D sech, then :

(@) 1/2 x2 x? y2 < +y2 1 X yZ

5 I 1 T 7 =1 c 2 e — 50
o (b) 513 (©) 2 L2 (d) 2 b2

4 Q#.18 o wipapb, 10 Gs.18 Sig Uy 6L Qaram_ gm Crireul L o maeruden
QUEDGTLITLIL ¢

(=4) 40 7 sgir S Es6T (<) 20 T EHIT SOGT:ET
(8) 14 = sgir @@ (rF) 80 ™ EHT ALEGSET

The curved surface area of a right circular cylinder of height 4 cm and base diameter 10 cm is :
(@) 40 7 sq. units (b) 20 7 sq. units

(c) 14 w sq. units (d) 80 7 sq. units

gowrer 6N LD wHmb o wiFih > @l @ 2 (HEMeT, @@ FnildL| WHMID @
Carengdlen sam jeTe|saten aldlsw

(24)1:2:3 (<4)2:1:3 (@)1:3:2 () 3:1:2

The ratio of the volumes of a cylinder, a cone and a sphere, if each has the same diameter
and same height is :

@ 1:2:3 b) 2:1:3 (© 1:3:2 (d) 3:1:2

QarésrurL wlyselia ama gnm Hspsfia Papssaurs Gmss plgrg) ?
(=)0 (=) 0.5 (@) 1.05 (/) 1

Which of the following values cannot be a probability of an event ?
(a) 0 | (b) 0.5 (©) 1.05 d 1
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X
14 QO PUGES Cauma HoLluuspsrar HepssaTo8 7. GCaume fasamnd

L , 2 - .
Qmuuspster Bepssea; 3 crafley, x -Gar HILTS! :

(=1) 2 | (<) 1 (@) 3

(rF) 1.5

. . L. 2
The probability of getting a job for a person is g— . If the probability of not getting the job is 3

then the value of x is :

(@) 2 (c) 3

(b) 1

LGS - 11/ PART - 1T

GSniLy : siemeuCuenid 10 anrss@nse oL wellésab. eilarr eram 28 -4

sL_Lmuwng ade weflEseyb.

d) 15

10x2=20

Answer any 10 questions. Question No. 28 is compulsory.

AxB={3,2), (3, 4), 5 2, 6, 4)} raflés, A wHEID B -85 SIS,

It AxB={(3,2), 3, 4), (5 2), (5 4)} then find A and B.

16. F(x)=3x-2, g(x)=2x+k wHmibd fog=gof erafler, k -Gem wHUMLIE SHTes.

If f(x) =3x—2, g(x)=2x+k and fog=gof, then find the value of k.

aPx b2 =800 eremmeur Siemwud @b Bens (p(p&Esar ‘a’ HmId D -pé STaRTs.

‘a’ and ‘b’ are two positive integers such that aPxb?=800. Find ‘a’ and 'b’.

FHEGS - 4x.2y » 6xz°

272 20y4

. g 4x2y 6xz°
Simplify : X

B D7 20_1/4

[Q@L}L{& / Turn over
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Lﬁ]@T@J@Lb @@Uqé FLSTUTL g 61 @w@g;aﬂeiﬂ F(HS WHMILD QLIHESDHLIET &Tems;,

T+ 8y - 65 = 0
Find the sum ang product of the roots for following quadratic equation.

7+ 8x - 65 =

O weallgenr 18 \§ $HsGs Qaarm Genarm 24 1§ euL &Cs Qsvdlprer. QsTL &g
LF’] mw"geﬁ]@;b@ U @@g;@fo Qg,rrmeummés ST,

A man 80es 18 m due East and then 24 m due North. Find the distance of his current
Position from the starting point.

/
A( —3 9). B(a, b) whmib C(4, ;5) eraruar @M CaTLewbs Leteladr wHmIb a+b=1
erefled, a HmD b -uder ElIenLE SHTETs. :

If the points A(-3, 9), B(a, b) and C(4, —5) are collinear and if a+b=1, then find a and b.

(-1, 2) eremp yerefl auifl Cedeugid, smiey —T 2 6L WIGILO TN CS(r_r,r'ré;(Sa;m'_lq.sisr |

FLOGTLIML_6OL_& &HTeHT.

. . : : =
Find the equation of a straight line which has slope 3 and passing through the point

(-1, 2).

1 + cos6 ’
—— ———— = cosecB + cotd eTerTLIGH 3 f
,1 p—r & BlepléseLb.
Prove that ‘/112_5_9 = cosecd + cot9,
1 — coso
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R davo orsCsrarsd e é{quuggu 1386 &.18 eraflev, Sigen CrssL
LUOUUTUe UG SHTesms.

If the base area of a hemispherical solid is 1386 sq. metres, then find its total surface area.

2 wimb 2 B whmib Slg Uiy 250 &.18 Qgmem— I 2 (HENETUNET HET SITEELS SHTEHHI.

Find the volume of cylinder whose height is 2 m and base area is 250 sq. m.

Qar(ésUul L grayls Letelsense afés whmib 6iF&sdsp gpdwuaipans srams.
05, 67, 48, 53, 18, 39, 44
Find the range and coefficient of range of the following data :

25, 67, 48, 53, 18, 39, 44

& OBl Lemge (leap year) 53 safléslpaningar AL iLgperer HHpssa] ererer ?

What is the probability that a leap year selected at random will contain 53 Saturdays ?

23 pHmitd 12 Hweupdler 18.Clur.al. sTams.

Find the HCF of 23 and 12.

@S - I / PART - III

sL_Lmuwrss edlewefl&Eseb. 10x5=50

Answer any 10 questions. Question No. 42 is compulsory.

A={xeN|1<x<4), B={xeW|0=sx<2} LD D M LD C={xeN|x<3} erafle,
A x (BUC)=(AXB)U(AXC) eranLiang sAUMT&ESED. |

Let A={reN|1<x<4}, B={xe W|0=<x<2} and C={reN|x<3}. Then verify that
A X (BUC)= (A xB)yu(AxC).

[ Siliys / Turn over
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31.

32.

33.

34.
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@ semiser erens. f:A—B GTEmILD &Ly

LI ) ,
5,7, 9) @ sriQanend GQaram(®

A=1{0,1,2 3} wpmd B={1, 3, .
. " L ey @
) =2r+1 erens (chcéarr(ljssem.lt_n_.@mméj

(i) euanLILLD

() DUSGM UL
(i) euflenss Gemgseflen HawTid

éuadpmps GHéseld .
pe two sets. Let f . A —B be a function gIven by

Let A={0, 1, 2, 3} and B={1, 3,5, 7, %}
f(*)=2x+1. Represent this function

(i) by arrow diagram (@ ina table form

(iii) as a set of ordered pairs (iv) in a graphical form

(DS Hrawrg : 9°+103+.......... 213

Find the sum of 93+103+.......... 213

64x — 1633 +17x% - 2x +1 eremnugen QUFGSEPELD HTEHTS.

Find the square root of 64x*—16x3+17x>—2x+1.

A= [ 31 ﬂ erafled, AZ—5A+7L,=0 eran Flmie|s.

If A= [31 ﬂ show that A2—5A+712=0.

Coaev GCappsas s Hlepiésayn.

State and prove Thales Theorem.
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35 (-9 D) (-8 —4), (2, 2) wHmd (1, —3) AU yereflseer (penensartas Qamamm

rrM&TSH@T LTlUenus Srens.

Find the arca of quadrilateral whose vertices are at (”9' =2), (=8, —4), (2 2) and (1, —3).

36. A(—4, 2) wppid B(6, —4) eremm Lereflsaner Qaais@Gh mwws GSg5ECHT g6
FLATUTL L& SIS,

Find the equation of the perpendicular bisector of the line joining the points A(—4, 2) and
B(6, —4).

37. @@ sLUGSH sorisar dasssdar @@ Lbshsalgibd sLeld Lwewh
Qewflaper. @@ sLudsaladBHg somsmr dasssdar o fflullar ghns
Garamiaser wanGuw 30° LHMID 45° G, swhE®T ellasssdla 2 wFn 200 &
arafled, Q@ SLILDEEBEES Qe Gu 2 drar Qgrarameus sras. (/3 =1.732)

Two ships are sailing in the sea on either sides of a lighthouse. The angle of elevation of the
top of the lighthouse as observed from the ships are 30° and 45° respectively. If the lighthouse
is 200 m high, find the distance between the two ships. (/3 =1.732)

45 Q.18 2 wyapeTer @i @l ssamr_gler @@ LD prmser papGu 28 Q&8
hmitb 7 0818 crefled, G EEMTL ST ST ATEDEIS HTEHTS.

If the radii of the circular ends of a frustum which is 45 cm high are 28 cm and 7 cm, find the

38.

volume of the frustum.

39. 6 Q.18 <y wHMD 15 G5 2 wrb GsTar. @m CHT UL 2 (Haar aligaiLl
ursArd appeugions Lafbamp (Ice-cream) 2 Grarg). SiBsL LIS pTeg), FalbDL
wpmib BeysCarerd Qamanis aligaldded HrluliuGAng. saider e w9 Qg8
Hmb @b 3 Q.18 erafled, LTsHrsHd odrer uaflssemy Brlu adsoans
galoL&6T Ggeney ?

A right circular cylindrical container of base radius 6 cm and height 15 cm is full of
ice-cream. The ice-cream is to be filled in cones of height 9 cm and base radius 3 cm, having

a hemispherical cap. Find the number of cones needed to empty the container.

[ Simiiys / Turn over
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0. 24, 26,33, 37, 29, 31 @y HuaupHler LIMUTLHS Q&(peneus Srems.

Find the coefficient of variation of 24, 26, 33, 37, 29, 31.

1. Qren® useLser R penm Q_@L'_l_uu@a%'ﬁrmm. WsD usmLule Pps &L
Qrie i LeL ere Sldeg s LIULSETE s(Bisd 8 -&sh Son L LILISHSTET
Bapssmes srems.

Two dice are rolled once. Find the probability of getting an even number on the first die or
the total of face sum 8.

2. 74774777 4 e Qgri euflensufen n 2 mlisafien B Srams.

Find the sum to n terms of the series 7+ 77+ 777 + cuen.........

u@3s - IV /| PART - IV
GO : Semensg alamssEnsEn olawalssayib. 2x8=16

Note : Answer all the questions.

43. (=) PQ=450s.15, |R =35 wpmb 258 R -uled(mibg cuenmwitiun i BOECHT g e
Bemb RG=6 Q&.15 erem @ienowjomm APQR euenys.
EXLNENE

(=) 6 Q&8 el qparer aulLib euenrhg eul Lgdar @LWSHO HHS 8 Q.18
Qareraedier P eramn LeTallenwd @mésayib. Siuyereflufellmpe PA whmio
PB ereim @ QarhGarhser kg Seupdler Fartisane Siered s

(@) Construct a APQR which the base PQ=45 cm, |R = 35°

and the median RG from R to
PQ is 6 cm.

OR

(b) Draw a circle of diameter 6 cm. from a point P, which is 8 cm. awa from i
Draw the two tangents PA and PB to the circle and measure their le}rlxgth;n 1ts centre.
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44. () y=222-3x-5 -wlewr cuamrLILLD QUETHE, i@l Lietu®SS 212 —4x—6=0
CTEND FLOGTLITL et & SiésaLb.
SeV60F)
(<) xy=24, x, y > 0 erabip BUDTLIL Seng GUENTE. cuenTULSes LweTURSS),
(i) x=3 erafléd y -3& Frenra. '
(i) y=6erafled x -5 Hneters.
(a) Draw the graph of y=2x?>—3x-5 and hence solve 2x2—4x~6=0.
OR
(b) Draw the graph of xy=24, x, y > 0. Using the graph find,
(i) vy when x=3 and
(i) x when y=6.

-00o0-
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